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1. ABC Ltd is using machine Z for the last two years. Now, the company is thinking to

replace this machine either with X or with Y machmc The following information 1s given : 14

Z X Y
Book value (%) 1,00.000 | _ -
Resale valﬁe now (%) 1.10.000 - -
Pu-rchase price (3) . 1.80,000 | 2,15,000
Annual fixed c‘ost including depreciation () 92,000 1.08.000 | 1.32,000

3]
-
h
=

Variable cost per unit (3) 2.50

Production per hour (units)' 8 8 12

Salvage value (%) 10,000 15.000 33,000
: ! ("_'." :: » RN \ qe U-%’

The following information is given :
Selling price per unit (%) 20
Cost of material per unit (%) 10

Annual operating hours 2,000

Working life of all machines (from now) 5 years
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The company charges depreciation using straight line method. It s anticipated th
additional cost of ¥ 8,000 p.a. would be required for machine Y, for advertising to sell
extra output of machine Y,

Assume tax rate of 50% and cost of capital 10%. The present value of T | to be received

at the end of year at 10% is as under

Year 1 2 3 4 5

Present Value 0.909 0.826 0.751 0.683 0.621

You are required to analyse the feasibility of proposal using NPV method.
OR
(@) The company is considering two mutually exclusive projects. The finance
director thinks that project with higher NPV should be chosen where as managing
director thinks that project with higher IRR should be chosen as both the project
have same initial outlay and expected life. The company anticipates cost of

capital of 10% and net after tax cash flow of projects are as follows :

(Amount in T *000)

Year 0 | 2 3 4 5

Cash flow 400) | 70 | 160 | 180 | 150 | 40
Project - X (3)

Project— Y (3) (400) | 436 | 20 20 8 6

Required :
(i) Calculate NPV and IRR for both projects.

(i) State. with reasons. which project you would suggest. Trial Rate 10% &
20%.

(b) Discuss pay-back period method.

- Attempt any two :

(a)  Explain effect of inflation on capital budgeting decision with cminmc .

Q
£.

10 o
=
jav]
H.
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o
=,
=]
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(b) Discuss sensitivity analysis.
AE-148 8
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(¢) X Ltd. is considcring one of two mutually exclusive project P and Q whicl
require cash outlay of ¥ 10,00,000 and ¥ 14,00,000 respectively. The risk frec ratc

is 5% and risk premium is 3%. The cxpected net cash in flows and their certainty

equivalents are as follows

Project P Project Q
Years End | Cash in Certainty | Cashin | Certainty
flow equivalent flow cquivalent
1 | 4.00,000 0.9 6.00,000 08
2 600000 | 08 | 800000 | 0.7
3 800000 | 07 |1000000| 06

Required :

(i)  Which project should be accepted ?

») (11)  Which project is risky and why 7 -

£. -

5 (d) Determine risk adjusted net present value ot the following projects @

— T

A A B C .

é B :

< Net cash outlay (%) 2.00.000 | 2.40,000 | 4.20.000

o . _

g Project life | Syears | Syears | S years
Annual cash in tlow (%) 60,000 84,000 | 1,40,000
Coefficient of Variation (C.V.) 0.4 0.8 1.2

The company selects the risk adjusted rate of discount based on coefficient of

variation.
C.V. | Risk Adjusted discount rate | Present value factor 1 to 5 years |
0 10% 3.791
0.4 | 12% | 3.605
0.8 14% 3.433
1.2 16% - _ 3.274
1.6 18% | 3.127
AE-148 ' 9 P.T.O.
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14
3. The XYZ Ltd. has 3 divisions whose information is given below
Div. X Div. Y Div. Z
Sales (%) 5,00,000 ? ?
Operating income (¥) | 25,000 | 30,000 ?
Operating assets () 1,00,000 ? 2,50,000
Turmover ? ? 0.4
Margin ? 0.4% 5%
ROI ? 2% ?
Required :
) (1) Calculate missing data and summarized the results.
o _
E‘ (2) Comment on relative performance of each division.
L} .
)
{ZJ OR
g_ (a) The operating performance of 3 divisions of X Ltd. is as follows : 10
(v )
8 Division A | Division B | Division C
3 @ @ @
Sales 38,00,000 |  1,70,00,000 | 2,00.00.000
Operating Profit 2,00,000 5,00,000 |  10,00.000
Investment - 20.00,000 62,50,000 80,00,000
(i)  Using operating profit margin percentage which is the most profitable
division ?
(ii)  Using rate of return on investment, which is the most profitable division °
(iii)‘ Which of the above two measures give better indication of overal] operatin
performance ? &
(b)  Explain responsibility centrés.
4
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o divisions, ‘A and B. Division A manufactures product X which it

as well as to division B, which process it to manufacture Z. The

ABC Ltd. has tw

sells in an open market |
anager of Division B has expressed the opinion that the transfer price is too high. 14

m
A is selling 40,000 units in open market and 10,000 units to division B,

Division |
t. It i1s not anticipated that these demands will ch

all at ¥ 20 per uni ange. The variable

d fixed cost-are T 2 lakh.

cost per unit is 12 an
at division B will want a transfer price of

The manager of division A anticipates th

7 18. If he does not sell to division B, T 30,000 of fixed cost and % 1,75,000 of assets
1 his rate of return

can be avoided. The manager of division A would judge primarily o1

assets. The firm’s existing assets are of T 8 lakhs.

(a) ~ Should the managér of division A transfer its product at T 18 to division B ?

(b) What is the lowest price that the division A should accept ?

OR
(a) What is transfer pricing ? Explain cost based transfer pricing. 7
(b) Explain objectives of transfer pricing alongwith dual pricing method. 7
7

(A) Choose the correct option :

(1) A company’s ROI would generally increase when
(a) Asset increase (b) Selling price decrease

(,e’)/- Cost decrease (d) Cost increase

- (2) Which pricing method is useful when the selling division is operating

below capacity ?
(a) Variable cost (b) Standard cost

() Actual full cost M one of abové

(3) Division under transfer pricing system is treated as
a
(a) Cost centre (b) Profit centre

¢) Investment centre ~ (d) Noneofabove

AE-148 .
p.T.O.
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(4) yke capital budgeting decision is

future (b)

(c) present o (d)
(5) Internal rate of return is

(a) cutoffrate (b)

(c) weighted average cost of capital (d)

decision.

past
(a) and (c)

hurdle rate

All of above

(6) Which formula is used to calculate present value ?

A
YARET ®

1

]
(r+1)°

(c) a+ny (d) None of above

(7) With increase in discounting rate, thereis ______in present value.
(a) increase -(b) decrcase
(¢) no change (d) None of above

State True or False :

(1) Payback period method has no relation with cash flow to determine time

period. =<

(2) Internal rate of return is always greater than cost of capital.

sensitivity analysis can be used. \.~"

e |
wod Apmgierenn

\1/'

(3) Two projects haying same payback period, for selection of best project

-(4)  Decision tree approach is technique which deals with risk measurement. >/

(5) Responsibility Accounting is linked with planning and control function. l/

(6) Under responsibility accounting,

person is penalized. ¥

on non-achievement of goals, respective

(7) A transfer price is considered on the basis of actual value rather than

notional value.\’L
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